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SOCIOLOGY

- ‘Paper : 3.3

Full Marks : 80

Time : Three hours

The figures in the margin indicate
Jull marks for the questions. '

. Fil.l"in the blahks with appropriate answers
given in the bl'a""etb : 1x10=10

(a) ACcording to “Laws are
codified mores”,

(Amoid Green/ Sumner)

() ___.__ _ views Law as a general rule
of external human action enforced by
olitical sovereign.

(Holland/John Austin)
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(c)When ‘fc#kways act as regulators of
behavmlif then they become
(custom or mores)
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(d)

(e)
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According to , Laws are a form
of social rule emancipating from
political agencies.

(Roscoe Pound/J. S. Roucek)

The rejection of both values and norms
is known as _.

(retreatism/ ritualism)

‘Ease of Rationalism’ is one of the
factors of .
(deviance/ conformity)

‘considers social
disorganisation as “a state of
disequilibrium and a lack of. social
solidarity or consensus among the
members of society.

(Maclver/Du "khezm )

The term “Sensate culture” was
introduced by .
(Sorakin/ Ogbum)

has given two types of crime
as felony and misdemeanour.
(Sutherland/Lombroso)

A thedry of punishment is
based on the idea of vindictive justice.
(The Ketributive/ The Deterrence)
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Write short notes on : 2x5=10
(@) Functions of Lok Adalat
(b) Social Sanctions

(c) Cultural Lag

- (d) Indoctrination

(e) - Corporal punishment.

What is Law)? In what ways law and social
change are interrelated ? 2+10=12

Or
What are the recent trends of Law in India ?

‘How Legislations have brought social change

in India ? 6+6=12

What do you mean by Propaganda ? Explain
propaganda as a means of Social Control.
4+8=12

Or

Define Social Control. What are the purposes
of social control ? Discuss the role of religion
as a means of social control.  2+4+6=12

What is Conformity ? Describe the causes
of conformity with suitable examples.
2+10=12
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What are the social significance of deviant
behaviour ? What are the functions of
deviance in support of social organisation ?

448=12

Explain the types of social disorganisation.
Suggest some remedial measures of social
disorganisation with appropriate examples.

' L : 4+8=12

Or

Describe some characteristics of social
disorganisation. Explain its various
conditions. 8+4=12

In what ways sociologists have defined
crime ?  Explain various types of crime in

details. 4+8=12
Or
Critically examine the reformative theory of
punishment. 12
. //
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